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•   MacGregor and Gergely:
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Units:  f’c in (Mpa), d in (in), ρ in %

Valid for: a/d > 3, 0.25% < ρ < 4.5%

7 cm < d < 1.1 m, 

12 MPa < f’c < 66 MPa
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<� ��$ 	
�� 
����� ���2� �� Y*2 
;1� 	<�<� ��.�$ /�;� 	��K�!���� u!���  .
  &��' ��TR �� 	Z! �� ��*$ 	� �� 	K�,�1' >����F� Y*2 
;1� `�<� �� �Z!�*D�

 %��� ��<� �!��*��.

1- %����$ ���Ca/d<1                                                                      :
 5�$ �� mM &�
 ��T� %���2 `*I ����� 8���� 8Z
 ���D� ��$ %�DI 	'��*�

��V 	� 8�C 	��V ��KB�� 3<*$ . 
����� \;< 	
�� %������ Q!�*$ ��� �L� �

<� %�DI %�TV�$ 8�Z�$ �� �z���� %������ ����� �� ��$ ����� . 
��) /!� ��

 ����� ��� �� %��'��� %����� ���*$ 	� ��$ � &�
 _I*�� %���2 ��)�� �� �T��$
�!��� 8�0$ .��2� 	�� Y�X$� 	��T'�� 	���� "�) /!� �� .

  &���
 �� _B�,� %�TBZ
 �� ��$ �� 	K�,�1'1  �$5 
<�) . &���� ����  ���*
��

<� /�� %���2 	'�
 ��*�(



 &�$*V %����$                                                                                                                            2- &�$*V %����$: 1.0<a/d<2.5                                                                                                                            
 ��
<� %�DI 	'��*� 5�$ 
����� �� ����� 	
�� 
����� ��� ����$ /!� . 8���� 8Z
 ���D�

 	��� 5�$ ��9!� �� mM –  	
�� ������ � &�*�� t*X� %���2 ��)�� �� 5�$ ��� :!��2� ��
���! 	� ������ 	��V �*$���� 
�< �� �!*��. 5�$ U! -�*#� . �� 	Z! �� 	K�,�1' >�9�� �<

��� 	� h� �!� -�*A �� ._�� (	
�� 	K�,1'e
<� 	��V �*$���� =�P� �� 	
�� �V 	��V  .
a( 	
�� 	K�,�1' – g�$ ����� t*X� 
BC �� %���2 /�� @D< ����� :��� �� 	
�� �V %���2

 %���2 �S� U!��� �� /�� ��
 ��� �L� � &�*� 	��� g�$ �� 
;1� %���2 ��)�� �� %�DI

��� �K� !"�  ���#� %�� +,�- .)� ����(� ��)��
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                                                                                                                            .         
                                                                                                                                 

 %���2 �S� U!��� �� /�� ��
 ��� �L� � &�*� 	��� g�$ �� 
;1� %���2 ��)�� �� %�DI

<�                                                                                                              .

3-  	�*�O� %����$2.5<a/d<6                                                                                                                             
 ��
<� %�DI 	'��*� 5�$ 
����� "��O� 	
�� 
����� 
��) /!�  . %�TV�$ ��9!� �� mM

 	��� 5�$ �T�� �� �V ����' 	� 8!�� =�� �*S� �.� �� �TV�$ Gk�I 	���–��!*' 	
�� . ��
 ��1Z
 � ��
��� �� ��KB�� 	��V %���� 8�0$ 
I�� �TV�$ /�� %�T����� ��!� &���� ��� :!��2�

 	���*
                                                                                                                            .         
4-  ��B� %����$a/d>6                                                                                                                                 

 	K�,�1' 	��� %�TV�$ -���� � 
<� :�� �� 	
�� ����$ /!� �� –���*�M 	� 7*I� �� 	
�� .
 	��T'�� �*D� �F$ �� �� ��$ � ��2�! =��1' QD�� %���2 	)�*� �� d�O!�< J�T��$ 8�F�$ �� mM

�*
 	� G�1�$ . ���� >�C &���� ���� -�;<�0� �'� 	�) ���� 	� ��A*$ �� ���� /�!� 
BC /!��
 :!��2� � 	
�� %�T��$ =��1' �� 
O���� %��� ��S �*$���� 8I��) J�
�� 	
�� �*$���� �� ��$

 �*
 &��� ���I ��$ �� %�!LM 8F


T T+∆T

∆T

د	�ان

���' 	� �[)E� �j���R .��*
 	� ��,�1' 	
�� 
����� ���<� �� 	�*�O� %����$ �� �Z���) �� ���� 	� ����� 
����� �� � &�*� &���t 
����� %���� ���C %����$  .



دانشگاه صنعتي خواجه نصيرالدين طوسي

7�= 4(56� 7�8� +,�- .)� ����(� �
�� !,��9, ��� +L@#,

 %����$ �� %�DI %�T��$ ��9!� J����� ��$ 
����� �� 	�� �.� 	�*� %����KB�� �*S� 
BC �� 	��� %�T��$ �F���) �� %����$ �� %�DI %�T��$ ��9!� J����� ��$ 
����� �� 	�� �.� 	�*� %����KB�� �*S� 
BC �� 	��� %�T��$ �F���) ��
����' ��$ 	��T'�� 	���� \;< ���*$ 	� ��S @�B1$ ���� .

 %���2 ��)�� =�� ����� 	��� g�$ 8�F�$ �� mM  ��  ��  %���2 ��)�� =�� ����� 	��� g�$ 8�F�$ �� mMvcz  ��(V/bd)   ��
(V/by)  ���! 	� :!��2�.

.)� �
�� !,��9, �� ��N� �(K�� �,�#&:

va   : %���� ���� ��
 ��'�� �� 8A�) %��/��.

Va = �� ����K�< 
1� � 8XI (33 to 40 %) 

Vcz =  =�� :,� ��%���2 (20 to 40 %) 

Vd =  N���� "��� �.� %����KB��QD�� (15 to 25 %) 

 QD�� 	
�� 
����� 7*�9�)QD�� 	
�� @�B1$ ����( = vcz + va +vd

Vcz  : &��*,� 5�$ 
�1I �� /�� 	
�� 
�2�z.

Vd  : 	��V %�� ��KB�� 3<*$ &�
 8�0$ %����.



 +� �� �5��� ��1	*� � ����(� �8', ;�/#� ��?� ��12�� �(>	�
���� �M �� ��O �>
.

  �� �� 	K�2�F
 %�T��$ � %�DI g�$ y�C :!��2� ������
 %����KB�� ����� 	�*�Vd  �Va  ����� ��*$ 	� � ��2�! :���

 �D�� �� �� ��KB�� 	��� %����b  �D�� �� 
;1� %��' �K�� ��a  
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7�= 4(56� 7�8� +,�- .)� ����(� �
����)��

 �D�� �� �� ��KB�� 	��� %����b  �D�� �� 
;1� %��' �K�� ��a  
�� 
1��� "��O�:

 %���� :!��2� \;< %�DI g�$ �*S� �� ���' 	� �[)E�
 �D�� �� ��KB��b  �D�� �� �K�� ��*� ����� �� �S*$ ��a  �1!��� ��

 ��b  ���' 	� . g�$ ��)�� �� ��� %���2 � 	
�� :�$ "�) /!� ��
���! 	� :!��2� %���2 :,� @D< :��� 
BC �� %���2 &��*,�.

( )
( )

z

M
T aext

bs ≈

	���� %���*�

1e  �� ��'��� �K�� �.� �� 	��� ��KB�� �E�<a  �� 
;1�
 �� 	)��� �K��b   

2e 	
�� 
1F
e %���2 ��)�� �� &��*,� g�$ /�� %���2
%���2 � 	
�� %�T��$ \���$ 
BC ��

3e  =�P� �.� �� 	'��;1R :��� 
BC �� 	��� �*$����
 g�$��KB�� "*� ������ �� 	K�2�F
.
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��. �T�� GT< �T$*��� ��
 %��S ��
  y�C :!��2� 
BC �� /Z�� &�


  
1Z

"���

 ��$ �� 	B��� %�T
�� :,M
��S �?*2 ��

∑V

7�= 4(56� �� +,�- .)� ����(� �
����)��

  y�C :!��2� 
BC �� /Z�� &�

 ��I 	�*� 
2�Z
 � %�DI %�TV�$

 /�� 	�
*MVay  �Vd  :��V   
 	� 
0$ ���2 
0$ /�� �L� ����!

  ��T'�� 	���� � ��2�' ���I ��� �2�b�
 	� |��)�*
.

 	D� -�*#� �T$*��� 3<*$ &�
 8�0$ =�� 8!�� 5�$ 8�Z�$ ��
���1� 
��. �K!� �X�*� �< � ���! 	� :!��2�.

Vcz

Vd

Vay

Vs

 g
�$

	�
�� 8!
�� 

g
�$

  G
�B1

$
-
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1F




∑Vint



7�= 4(56� �� +,�- .)� ����(� �
�� !,��9,

%�� �(K�� �0���
1. 	
�� 5�$��9!� �� 8;I����� %��.�$).���1� ��.�$ 	� �� :�$(
2.	
�� 5�$ ��9!� �� �O�
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 �*� ��S %���*$���� \<��� � 	2�� /���$ �� �� 
<� �� �� 	O< �L� 
<� &���F
 � 	��T'�� 	��� %����$ 	
�� 
1F
 ���9�� ��
�
�� ��$ ���2� �� G��) 	
�� 
1F
 �� 8;I 	��� 
1F
.

 �*� ��S %���*$���� \<��� � 	2�� /���$ �� �� 
<� �� �� 	O< �L� 
<� &���F
 � 	��T'�� 	��� %����$ 	
�� 
1F
 ���9�� ��
�
�� ��$ ���2� �� G��) 	
�� 
1F
 �� 8;I 	��� 
1F
.

2.	
�� 5�$ ��9!� �� �O�
�5�$ Q���$ �� 	
�� 
����� ��9!�
�	
�� 5�$ ������ �� %��'*BS
�	�*� %����KB�� ���V `*;0�
�/�� � �?*2 	'��;1R 
2� ����� �� 
�����e��KB�� N���� N�Z
 ��9!�e "��� �.� :!��2�
��!� %�� 5�$ "���V 3<*$ �� ����K�< 
1� � 8XI :!��2�
3Behavior of members with shear reinforcement is somewhat unpredictable- -

Current design procedures are based on:                                                                    
�	�D�� %��������
�	��K�!���� u!���
�	B;I %�� }�� u!��� �� �2�*�
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�
�� �Q#� 3�#��
-*���e*iC �*0� �� �*�C

)��� %���� 8I��)e?�� �?*2 N�#�(
8!�� %����KB��

)?�� ������*� ��� %����eG� &��� N�#�(

%�*$ �Z;

  * ��ZB�C %�*$ %�� �Z;


 %�� -*��� �� 
;1� %��T�
����� 	�*�O�  .

 %�M�� �� =�� "��O� %���� Gk�I �X�*� 8�0$ 
TS �� -*���
����' 	� ���I &��X�<���*� 	!�i2.

  %�� ��KB�� ��� �!� -�*A�� �� �� -*���
 	� ��1� 	�*���*
:

��� -*���
180o 135o

��1� -*���

135o180o

Welded Wire Fabric (WWF)
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RS�� �#,�� �� �(�

Va

��$ �� Gk�I %�� -*��� � %�DI g�$ �� ���� %������ :!���

VN =	B��� 	
�� %���� 7*�9� = Vcz + ∑Avfv +Vd + Vay

Vcz = /�� &��*,� g�$ 
�1I �� 	B��� Gk�I %����
Vd = "��� �.�J	�*� %����KB�� QDI 80� �� ��9!� %����
Vay = �� ����K�< 
1� � 8XI 
BC �� &�
 ��9!� %���� Gk�I �X�v�
ΣA f = �� -*��� %�*�C %����ΣAvfv = �� -*��� %�*�C %����

 ���� G���������� ��*
 	� QDI g�$ 3<*$ �� �� -*��� ���O$ -�*A “s”�� �� -*��� /�� �BA�2 �“p” �� g�$ 	�2� �!*#$ �'�
n =p/s : �� 
<�

Vs = nAvfs   ������� �*
 	� 8�0$ �� -*��� 3<*$ �� 	!���� �
Vs = nAvfy    : fs = fy   ����<� �� �� 
1F
:

 /!� >��$ 
X' ��*$ 	� 	C*� �� � G!��' 	�� �[� �� �� �� ����K�< 
1�� 8XI � "��� �� 	
�� %���� ������� 
TS �� /��j��
G��� 	� �AE�. Vcr � �� 8��*C�

Vr = Vcr + Vs = Vcr + nAvfy
  \!��$/!������ J
<� 	�*� ���1�: p=d �� 
<� /!� &���� 	I�� "�*< �T�$ : �� ��� 	� ���� -��!���� �
1�R g�$ 	�2� �!*#$

 p/s = d/s or Vs = nAvfy = d/s Avfy     
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���, �#,�� �� �(�

 &��!��2 ��� %��� 8!�� %�T$*��� �R�'� &��!��2 ��� %��� 8!�� %�T$*��� �R�'�
 ���P$ 
TS �� 	�� 
<� ���T� ��TS (!
 	��'�� � 
2� %����� �� 	
�� %����
 /F�� ����R ��
�� 	�� �.*� ����� 8W�
 %�T��$ %��L'��� ���P$ 
TS �� 
<�

��2� Y�X$� �T�� ������ �� 8!��.
 %�T��$ %��L'��� ���P$ 
TS �� 
<�

��2� Y�X$� �T�� ������ �� 8!��.

4Vc



• �'� J���� /�!� �;� ��Vu  � ���;!�b %����� �� 	
�� 	!�T� 	
�� =E$Vr  ��$ 
!�X� �
�� QD�� 	!�T� 	
�� 
�����
�� 
<� 8A�) 	�I� 	
�� %������ ����� ��                                                                             :Vu≤Vr

• QD�� >���� 	!�T� 	
�� %����Vr  �*
 	� �;<�0� �!� �D��� �� &��X�<� ��     :
•                                                                                                                             Vr=Vc+Vs
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7���� .)� +,�� .(�- ���

.)� T0#� �8
 .(,�� �
�� ���(�

′
==

cccwcc
f2.0vdbvV φ    :    

 9-12-3-1-1e �� �D��� /!�Vc  � /�� 3<*$ &�
 /���$ 	
�� %����Vs 
<� 	
�� %���*$���� 3<*$ &�
 /���$ 	
�� %���� . /!�
�*
 	� &����� �*$���� 	!�T� >���� 	
�� %���� � /�� 	!�T� >���� 	
�� %���� �T������  .

9-12-3-2-1 %��� ���I :�� � =�� �.� 
0$ �F�!�iC� &��X�<������ 	� ��9� ��� 8!t �$ ��I� �D��� ���
��.

 �� �Z�$�*AVud/Mu  %��1� �� ����� ��V���9$ U! ��1  
2�' �[� ��

cc

u

uw

cc

w

cr

cr
'f35.0

M

dV
12'f19.0

db

V
v φ

ρ
φ ≤+==

Mu  	!�T� 	
�� %���� �� ������ �V 
<� 	��� �K��Vu ��V 	� �.� QD�� �� .
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 !,��9, �� .)� T0#� �8
 .(,�� �
����#", ���(� !"� U�V&�

 �WV��) � �*$���� 	
�� %���� �WV��) J	
�� �*$���� 8I��) �� ]*��� 3��*b �!�< � 	
�� %���*$���� �;<�0� �� ]*��� 3���� �WV��) � �*$���� 	
�� %���� �WV��) J	
�� �*$���� 8I��) �� ]*��� 3��*b �!�< � 	
�� %���*$���� �;<�0� �� ]*��� 3����
 ��;
 dE��V 	
�� %���*$���� 8A�*2 %�iC�
<� 	��� .��� ���P$ �� /�� 	
�� 
����� GT< �;<�0� �� ]*��� 3���� �!�� 3�2.

8

4 dh
NMM uum

−
−=

 �� %�*0� %���� 
0$ 	��� *iC U! �Z�$�*A���;!�b %���2  J���' ���I 9-12-3-2-2 �� %�*0� %���� 
0$ 	��� *iC U! �Z�$�*A���;!�b %���2Nu  J���' ���I
 	��� �K��Mu  ���D��� 9-12-3-2-1 �*
 /!�K!�S 8���� �D��� 3<*$ �!��. "�) /!� ��

8
NMM uum −=

db
A

N
fV w

g

u
ccc

3
135.0 += φ

db
A

N
fV w

g

u
ccc 













+=

12
12.0 φ

db
A

N
fV w

g

u
ccc 













+=

3
12.0 φ

 	��� �K��Mu  ���D��� 9-12-3-2-1 �*
 /!�K!�S 8���� �D��� 3<*$ �!��. "�) /!� ��
 ����� 
1�� >�?Vud/Mu ���' ���0� �)�� ��.

 ����� �� �!�;� &�
 �;<�0� ����� "�) �� �� 8����) �D���)8e12 (( ������ ��'���  ����� �� �!�;� &�
 �;<�0� ����� "�) �� �� 8����) �D���)8e12 (( ������ ��'���
�*
. �j���RMm  �D��� ��)12e7 ( ���' 	X��Vc  �D��� ��)12e8 ( �;<�0�     
 	��*
.

9-12-3-1-2e  %�9� %�� �D��� ?�� &��< �D��� �� ��*$ 	�  8���� 9-12-3-1-2e  %�9� %�� �D��� ?�� &��< �D��� �� ��*$ 	�  8����
�*�� &��X�<� ����� ���I %�*0� ���2 
0$ �V 	!�iC� %���.


2�' &�T� 8���� �D��� �� �!�� :�V 
0$ %�iC� %���.
2�' &�T� 8���� �D��� �� �!�� :�V 
0$ %�iC� %���.

) �D��� /!� ��Nu 
<� 	X��(.

)12 -7(

)12 -8(



9-12-4-1e��
�� 8!t 7�*�� 8��
 ����*$ 	� 	
�� %���*$����:
_��e *iC �*0� �� �*�C %�T$*���

ae ����� ���I *iC �*0� �� �*�C �� 	!�T��< �� &�
 =*S �F;

� e �!��� �� %�T$*���45  %*0�� 	�*� 	��� %����KB�� �� 
;1� ����� �! �S��

���� QDI �� 	����)� %�DI %�T��$ ��.

cyvss V
s

d
fAV 4≤= φ

دانشگاه صنعتي خواجه نصيرالدين طوسي

���#��,�- T0#� �8
 .(,�� !,��9,

( ) d
≤+= ααφ

-*���  �*�C*iC �*0� ��
)) 8I����� %����e �?*2 N�#�?��(

-e  �W���) �DI �� &�
 G� 	�*� %����KB��36  �!��� 
0$ J����B��30  �S��
 QDI �� 	����)� %�DI %�T��$ �� 	�*� 	��� %����KB�� �� 
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(1) Calculate Vu

(2) Calculate Vc
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→≥

done. no, If2
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(6) Solve for required stirrup spacing(strength)

Assume Ф8, Ф10, or Ф12 stirrups

(7) Check minimum steel requirement

       
df
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s

A

yd

sv ≥

     
35.0

max

w

yv

b

fA
s =
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35.0 wb

(8) Check maximum spacing requirement

(9) Use smallest spacing from steps 6,7,8

( )illegal      4  If :Note

300
4

 2  If

600
2

 2  If

max

max

dbvV

mm
d

sdbvV

mm
d

sdbvV

wcs

wcs

wcs

≥

≤≤→≥

≤≤→≤

Note:  A practical limit to minimum stirrup spacing is 100 mm
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4Vc
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